
L2(32).5 (mod 3)

blocks defect matrix

G : 1 1 3× 2
2 1 3× 2
3 1 3× 2

4 = 3 1 3× 2
5 = 2 1 3× 2
6 1 3× 1
7 0 1651 = χ19+, ϕ8+

8 0 1652 = χ24+, ϕ13+

9 0 1653 = χ29+, ϕ18+

Block 1: ϕ1,0 ϕ2,0

11 = χ1,0 1 .
311 = χ2,0 . 1
321 = χ18,0 1 1

ϕ1,0 = 11
ϕ2,0 = 311

Block 2: ϕ1,1 ϕ2,1

12 = χ1,1 1 .
312 = χ2,1 . 1
322 = χ18,1 1 1

ϕ1,1 = 12
ϕ2,1 = 312

Block 3: ϕ1,2 ϕ2,2

13 = χ1,2 1 .
313 = χ2,2 . 1
323 = χ18,2 1 1

ϕ1,2 = 13
ϕ2,2 = 313

Block 4: ϕ1,3 ϕ2,3

14 = χ1,3 1 .
314 = χ2,3 . 1
324 = χ18,3 1 1

ϕ1,3 = 14
ϕ2,3 = 314



Block 5: ϕ1,4 ϕ2,4

15 = χ1,4 1 .
315 = χ2,4 . 1
325 = χ18,4 1 1

ϕ1,4 = 15
ϕ2,4 = 315

Block 6: ϕ3+

1551 = χ3+ 1
1552 = χ8+ 1
1553 = χ13+ 1

ϕ3+ = 1551


